QGD A %I|Er S P B fiL

— $5m

b & il kA i AT TS T | & & ke Al
1. — WSS mE S, 3G S ES Fm9E L.

2. A PHE ] 5T RRIE Sk P R A, R b
it GE)Y gl R .
3. WA, BiE{(E.
4. wHEL: B
5. B IE HIHTS % QGB RAEH.
-, e

g6B= L1 L1 %L1 =[]

S HH R B J AT

e R
L7
=. EEEASH
S (mm) i 40 i 50 P63 i 80 i 100 125 i 160 i 200
W (m/s) 1~40 110 1~ 35
[{EHJ) (bar) 2,5~8
it 1) (bar) 12
[EED (bar) PA#: 3~5
iRl (T - 25 ~ + 80 (HEAFERHET)
[ {EAr i Gibipdh, HEA BN RETE R
BHLIE Fv I 10k a% 20841k
M, BfRfAsEIIMRERST
| il
P ;
K e il rj 5
AL ol | ‘ . ..a:. T
T LB
R — 3l
1 | Liis B
Bz
Hfi: mm
L 1% d da k ds d | 1L |1v]l e )ia|l Bl B |Be] B | Ba| B | o] en]b
WGD40x%S | 16 |M12>¢1.25]| & 13| M10<1 | M6 | 285|230 | 21020 180| 84 |50 95 | 50 | 114] 3825 13
GD50%S | 16 |M12x1.25] & 13| M10x1 | M6 | 285|230 | 21020 180| 84 |50 95 | 50 | 114]38]25] 13
WGDE3XS | 20 | M16x 1.5 | d 16 [M12x1.25| M8 | 315|260 [ 232 [ 20 | 196 | 100] 50| 95 | 60 | 114 40| 30 ] 17
QGD80XS | 20 | M16X 1.5 |20 [Mi6x1.5| M8 | 315|260 | 235 | 25 | 211 | 115] 59 95 | 75 | 114 45 30| 17
QGD100XS | 25 | M20% 1.5 | b 20 | M16% 1.5 | W10 | 345 280 | 250 | 30 | 226 | 130 64 | 115 90 | 130 55| 35 | 22
Q6D125%5 | 32| M2rx2 |24 |mM20x1.5 M2 |375]300]262] 30 259|163 68| 150 120 165] 65 | 40 | 28
QGD160XS | 40 | M33x2 |$32| M27x2 | M6 | 445|360 | 320] 40 | 306 182 78 | 190 150 | 200 75| 50 | 36
QGD200x5 [ 40| M36 | $h32| M27x2 |M20|452|367|320] 40| 346250 78| 230 180 | 255 75| 60 | 37




